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THIX#R10-2-35 Bl H28.9. 23 £ 0.15 | HEwkO 21 - - - 10 96. 4 100 600 BER SRR X 4t
EEX#6-3-85 Bl H28.9. 22 551 0. 11 kA 96 - - - 8 47.1 410 2,400 EER it 13- SO AN
ABEIXRI4-2-15 Bl H28. 9. 20 551 0.26 | HEwkO 81 - - - 10 92.2 1,400 8,700 BER SRR X 4
THIX#ERI-1-85 Al H28. 9. 23 = 0.13 | EwkA 25 - - - 12 01.8 440 2,500 BER SRR X 4
AHB1Z#R14-1-715 (Gt / Eith) Bl H28. 9. 26 = 0.27 | EwkA 25 - - - 12 46.9 1,300 7,400 EER SR R X 4
AE2X#R15-2-15 Bl H28. 9. 26 = 0.22 | EwkA 85 - - - 12 93. 1 1,200 7,100 EER SRR X 4
AHE2X#R15-2-65 AT H28.9. 27 i 0.20 | EwKkA 21 - - - 12 47.3 920 2,900 EER SRR X A4
AE2X#H15-2-115 (#BAB—15) AL H28. 9. 26 551 0.20 | EwKkA 84 - - - 11 64.3 2, 600 14, 000 BER SRR X 4
BHINXZK2-T5 Bl H28. 9. 21 = 0. 11 kO 36 - - - 8 06.2 230 3,000 EER SR R X 4
=X #R16-185 EBilh H28. 9. 21 £ 0.22 | EwkA 37 - - - 10 64.3 1,800 11, 000 BER SR R X A4
BHAE2X%#R12-2-35 Bl H28. 9. 21 £ 0.14 | EwKkA 42 - - - 11 48. 8 310 1,600 BER SRR X A
RE2X#R15-2-125 N H28. 9. 26 N 0.20 | EwKkA 81 - - - 12 41.2 490 2,700 BER itk 3z ey
BAE1X#R11-5-35 Al H28. 9. 23 = 0.20 | HEwkH 100 £ - - - 10 11.0 1,200 7,000 EER SRR X A4
AEIX#RI13-4-25 Al H28.9. 22 £ 0.32 | HEwkH 11 - - - 10 69.0 1,400 7,800 EER itk 3z ey
=X #R16-155 Al H28. 9. 21 = 0.30 | HEwkH 10020 E - - - 10 33.8 280 1,500 EBER itk 3 A ey
=5 X #R16-105 ARt H28. 9. 20 F 0.26 | EwkHA 26 - - - 10 49.0 170 1,100 BER piid S 3i- N SN
HHEXR2-3F ARt H28.9. 21 = 0.15 | EwkA 10020 E - - - 10 94.0 260 3,500 BER piid S-S O AN
= EX#R6-3-55 ARt H28.9. 22 F 0.15 | EwkA 10020 E - - - 8 96. 3 450 2, 600 BER piid S 3= N SO AN
THIX#R10-3-15 Bl H28. 9. 21 = 0.15 | HEwkO 10020 E - - - 10 45.3 92 580 BER it 3 AN R SC )
= XIR16-85 ARt H28. 9. 20 i 0.25 | EwkA 20 - - - 10 44.1 490 2,700 BER Pt S5-I SO AN
HE2X%#R12-4-85 Bl H28.9. 23 = 0.12 | HEkO 90 - - - 4 46. 1 510 2,900 BER SRR X s 4t
EHXIRI6-45 Al H28. 9. 20 551 0.27 | HEkO 16 - - - 10 58. 1 200 1,100 BER SRR X 4t
=X #R16-35 Bl H28. 9. 20 551 0.27 | HEkO 9 - - - 10 96. 8 1,900 11, 000 BER B R X A
AHE2XHR14-1-95 Al H28.9. 27 i} 0.25 | HEwkO 10020 E - - - 10 91.0 330 2,100 BER ik 3N AN
AHE2XHR1T-3-55 Bl H28.9. 22 = 0.26 | HEwkO 15 - - - 10 41.1 4, 000 23, 000 BER SRR X 4
AB1X#R14-3-35 il H28.9. 22 551 0.38 | HwKkA 37 - - - 10 28.0 280 1,700 BER SR R X A4
AE2X#R15-2-15 AT H28.9. 27 i 0.19 | EwkA ol - - - 11 12.1 2, 300 13, 000 EER SRR X 4
ABIX#R14-3-25 Bl H28. 9. 22 £ 0.28 | HwKkA 63 - - - 12 41.0 750 4, 300 BER SRR X 4
BAE2%#R12-4-95 Bl H28. 9. 23 F 0.13 | HwkA 18 - - - 10 95.6 470 2,800 EER SRR X A
=X fR16-115 Bl H28. 9. 20 F 0.22 | EwkA 22 - - - 10 41.0 460 2,700 BER SRR X A4
=X iR16-175 Al H28. 9. 21 i} 0.31 kO 30 - - - 10 47.9 780 4,500 BER SRR X A4
=X #R16-215 EBilh H28. 9. 21 £ 0.37 | EwkA 23 - - - 10 48. 2 1,300 1,600 BER SR R X A
RE2X#R15-2-25 Bl H28. 9. 26 £ 0.20 | EwkA 80 - - - 12 96. 7 1,800 10, 000 BER itk 3z ey
= 2 X ##16-225 Al H28. 9. 21 Z 0.30 | EHwKkA 60 - - - 10 40.9 240 3,100 BER SRR X A
= Fr X #R16-65 Al H28. 9. 20 55 0.24 | HEwkO 8 - - - 10 ol. 1 260 3,300 EER SRR X A
RHE2X#R14-1-135 Al H28. 9. 23 £ 0.27 | HEwkH 28 - - - 10 61.6 1,600 9,400 EER itk 3z ey
BHEHN2XZ #1325 Al H28. 9. 21 = 0.10 | HEwkA o4 - - - 8 67.8 010 2, 600 BER it 3 A e Ay
=i X #R16-185 (1BEEHth) ARt H28.9. 23 £ 0.14 | EwkA 69 - - - 10 48.5 1,200 1,200 BER piid S 3= SN
TRIXR3-1-25 ARt H28.9. 22 F 0.14 | EwkHA 15 - - - 10 05. 8 370 1,900 BER piid S-S AN
= XIR16-25 ARt H28.9. 20 A 0.28 | EwkHA 31 - - - 10 48.5 750 4,300 BER Pt S 3i- N SO AN
KHE1X#R13-3-15 AT H28.9. 22 551 0.29 | EwkA 10020 E - - - 12 38.8 740 4,300 BER S R R X a4t
KXHE1X%#R13-3-25 Al H28.9. 22 551 0.33 | HwkO 21 - - - 12 54. 4 670 3, 800 BER SRR X a4t
KHE2Z#R17T-3-65 Bl H28.9. 22 551 0.31 kA 95 - - - 10 40.7 870 9,000 BER piit 13- SO
HHENTXER2-15 Bl H28. 9. 21 £ 0.17 | HEwkO 29 - - - ) 71.4 800 4, 800 BER R R R X 4t
KHETX#R14-3-55 Bl H28.9. 22 551 0.33 | HEwkO 24 - - - 12 51.9 2, 400 13, 000 BER B R X A
THIX#R-1-35 Al H28.9. 22 551 0.13 | HEwkO 37 - - - 1 12.0 1,800 10, 000 BER SRR X 4
THIXERI-2-115 Al H28. 9. 21 = 0.16 | EwkA 10020 E - - - 10 33.5 99 930 BER ik 3N AN
ABIXR14-1-25 Bl H28. 9. 23 = 0.28 | HEwKkA 23 - - - 10 95.0 1,600 9, 600 EER SRR X 4
AHE2X#R15-3-35 Bl H28.9. 27 = 0.25 | EwkA ol - - - 10 95.2 900 0,100 EER SRR X A4
AHE2X#R14-1-85 Bl H28. 9. 23 = 0.27 | EwkA 28 - - - 10 47.4 1,100 6, 200 BER SR R X 4
ABIX#R14-2-25 Bl H28. 9. 20 F 0.28 | EwkA 6 - - - 10 48. 3 280 3, 400 BER SRR X 4
RE2X#R14-1-125 EBilh H28. 9. 23 £ 0.26 | EwKkA 17 - - - 10 41.1 280 1,700 BER SR R X A4
ABIX#RI4-1-65 g H28. 9. 20 55 0.28 | HwKkO 31 - - - 10 ol.6 950 9, 600 BER SRR X A
RE2XRIT-3-15 Al H28.9. 22 Z 0.26 | HwkO 88 - - - 10 40. 3 440 2,600 EER itk 3z ey
AEIX#RI4-3-15 Al H28. 9. 26 N 0.28 | HEwkH 71 - - - 12 23.6 1,800 10, 000 EER SRR X A
=X #R16-135 Bl H28. 9. 20 551 0.34 | EwkO 40 - - - 10 98.0 1,300 7,600 BER piid 2= SN
KE2X#R15-3-15 Al H28.9. 27 £ 0.16 | HEwkH 60 - - - 10 04.6 1,000 0, 800 EER itk 3z e AN
RE2X#R17-3-25 Al H28.9. 22 551 0.18 | HEwkHO 42 - - - 10 47.9 3,400 20, 000 BER itk 3 ey
BHEHN2XZHEI-5-15 Al H28. 9. 21 = 0.1 Ek O 96 - - - 8 68. 6 330 2,000 BER it 3 A e AN
= EX#R5-3-25 At H28.9. 22 F 0.18 | EwkHA 15 - - - 10 74. 4 1,100 6, 300 BER piid SN SO AN
KHE2%#R15-2-85 ARt H28. 9. 26 F 0.29 | EwkA 28 - - - 10 90. 3 2, 000 12, 000 BER piid S 3= N SO AN
RHE2%Z#R17-3-135 Bl H28.9. 22 = 0.27 | HEkO 41 - - - 10 32.7 360 2,000 BER Pt S 3i- N SO AN
Bi5it Al H28. 9. 20 = 0.27 | HEkO 16 - - - 12 48.7 690 4, 000 BER SRR X a4t
=/ Hil Bl H28. 9. 20 551 0.19 | HEwkO 28 - - - 10 94.5 900 9,100 BER SRR X 4t
#HE KRHAFTIR K Hdi AT H28.9. 19 = 0.14 | HEkO 52 - - - 10 63. 6 280 1, 800 BER B TR R X A
hxih Bl H28.9. 19 551 0.14 | HEkO 24 - - - 10 13.3 190 1,100 BER SRR X 4
1St Al H28.9. 19 = 0.14 | EwkA 24 - - - 10 ol.5 750 4, 200 BER SRR X 4
Hh 5|t il H28. 9. 21 i} 0.17 | EwkA 36 - - - 10 8. 4 450 2,600 EER SRR X 4
Bl Al H28. 9. 21 = 0. 11 kA 32 - - - 10 98.5 1,500 8, 800 BER SRR X 4
P B it AT H28. 9. 21 i 0.16 | EwkA 28 - - - 11 35.2 180 980 EER SRR X 4
AR Bl H28. 9. 23 £ 0.16 | HEwkA 46 - - - 12 93.2 260 1,500 BER SRR X 4
Bt Bl H28. 9. 20 i 0.21 kO 34 - - - 11 12.3 940 4,900 EER SRR X 4
£/ Hit EBilh H28. 9. 23 £ 0.18 | HwKkA 35 - - - 10 92.17 460 2, 600 BER it 3z e AN
FLi Bl H28. 9. 20 i 0.23 | EwkA 36 - - - 12 48.9 670 4, 000 BER SRR X A4
LhisiRt—1% N H28. 9. 21 = 0.24 | EwKO 7 - - - 11 12.3 1,100 6, 600 BER itk 3z ey
LhiyiRt—2% Al H28. 9. 21 = 0.23 | HEwkH 43 - - - 12 23.17 670 4, 000 EER SRR X A4
AR Al H28. 9. 21 £ 0.24 | HEwkO 24 - - - 11 63. 8 1,800 11, 000 EER itk 3z ey
it At H28. 9. 21 = 0.19 | HEwkH 40 - - - 10 90. 1 130 4, 300 EBER itk 3 A ey
HLy R th ARt H28.9. 22 A 0.24 | EwkA 13 - - - 10 33.0 88 200 BER piid S 3i- N SN
frith ARt H28.9. 22 F 0.20 | EwkHA 62 - - - 10 0.3 3, 600 21, 000 BER piid S-S AN
IR ith ARt H28.9. 22 F 0.30 | EwkA 19 - - - 12 92.8 1,100 6, 400 BER piid S 3i- N SO AN
FEEXRM ARt H28.9. 22 F 0.22 | EwkHA 14 - - - 12 61.7 2,100 12, 000 BER piid 33 N SO AN
RYpEth—15 ARt H28.9. 22 A 0.28 | EwkHA 20 - - - 12 70. 1 2,500 14, 000 BER Pt S5-I SO AN
RIWBAM— 15 Bl H28.9. 22 551 0.19 | HEwkO 9 - - - 12 46.5 230 1, 400 BER SRR X a4t
TRt —1% Al H28.9. 22 551 0.18 | HEwkO 13 - - - 10 40. 6 280 1,500 BER SRR X a4t
AR Bl H28.9. 22 551 0.21 kA 12 - - - 12 41.2 460 2,600 BER piit 13- SO
‘A Al H28.9. 19 = 0.26 | HEwkO 28 - - - 12 63.3 1,200 7,200 BER SRR X 4
it Bl H28.9. 19 = 0.10 | HEwkO 16 - - - 12 91.3 930 9,000 EER SRR X 4
K&t il H28. 9. 21 = 0.37 | EwkA - - - - 10 76. 1 8, 100 46, 000 BER it 3z e AN
BAM—15 Bl H28. 9. 21 = 0.47 | EwkA 20 - - - 10 37.8 230 1,300 EER SRR X A4
bk} Bl H28. 9. 22 F 0. 11 kO 91 - - - 8 45. 6 360 2,200 BER SR R X A4
RE XM Bl H28. 9. 21 z 0.10 | EwkA 74 - - - 6 01.0 410 2,400 EER SRR X A
T A8t Bl H28. 9. 21 £ 0.13 | EwkA 10 - - - 8 o1.6 790 4, 600 BER SR R X A4
HIEEh Bl H28. 9. 20 F 0.12 | EwkA 38 - - - 8 ol. 1 920 3,100 BER SRR X 4
#ith Bl H28. 9. 20 F 0.16 | HwKkA 42 - - - 8 45. 4 620 3,600 BER SR R X A
=%t (F) g H28. 9. 21 = 0.08 | HwKkOA 25 - - - JJ 43. 8 110 630 BER SRR X A
PN Al H28.9. 22 N 0.14 | EwKkA 100 £ - - - 12 95.3 480 2,700 EER SRR X A
sc it Al H28.9. 22 N 0.12 | HEwkH o4 - - - 8 61.8 210 3,100 EER itk 3z ey
SFAITE & Bl H28. 9. 20 551 0.19 | HEkH - - - - 10 20.0 16 440 BER itk 3 A ey
FRAID it Al H28.9. 22 551 0.09 | HEwkHA 25 - - - 10 40.9 230 1,300 BER SRR X At
RAR ARt H28.9. 22 F 0. 11 kA 68 - - - 6 92.2 240 1,500 BER piid S 3i- N SO AN
BEE1 ARt H28.9. 23 = 0.10 | EwkHA 46 - - - 1 45.7 190 960 BER piid S 3i- N SO AN
HERM-15 ARt H28.9. 22 i 0.12 | EwkA 18 - - - 12 64.2 260 1,500 BER Pt S 3i- N SO AN
=4 =2hi Bl H28. 9. 28 551 0.09 | HEwkO 10020 E - - - 12 64.7 330 2,000 BER it 3 AN R SC )
REt-1% Bl H28.9. 22 551 0.15 | HEwkO 54 - - - 12 18.4 640 3,600 BER SRR X 4t
ERAM-15 Al H28.9. 22 551 0.12 | HEkO - - - - 10 49.0 230 1,200 BER it 3 AN SO\
R/ AM-25 Bl H28.9. 22 551 0.11 HokA - - - - 10 33.5 12 65 BER it 3 AN R SC )
JIIRITH il H28.9. 22 Z 0.26 | HEwkO 48 - - - 10 98. 6 2, 500 14, 000 EER B TR R X A
Eicpiu Bl H28. 9. 20 551 0.26 | HEwkO 30 - - - 10 90.5 1,600 8,900 BER SRR X 4
KA Al H28. 9. 21 = 0.23 | EwkA 23 - - - 10 30.6 350 2,000 BER SR R X 4
KBt il H28. 9. 21 = 0.24 | EwKkA 10020 £ - - - 10 38.3 640 4,000 EER ik 3N AN
it Bl H28. 9. 21 = 0.24 | EwKkA 17 - - - 9 28. 1 110 700 EER SRR X 4
KBt Bl H28.9. 22 = 0.7 kO 38 - - - 11 ol.8 1,000 0, 800 EER SR R X A4
BERE 1t ARl H28.9. 22 F 0.25 | EwkA 67 - - - 10 00. 4 740 4,500 BER SRR X 4
BERE2 Al H28.9. 22 N 0.34 | EwKkA 10020 £ - - - 10 62. 6 1,400 8, 200 BER SRR X A4
4 1Eith Al H28.9. 22 N 0.45 | EwkO - - - - 10 46. 3 480 2,800 BER SRR X A
AKE Al H28.9. 22 N 0.17 | EwkA 12 - - - 10 49.9 7130 4, 000 EER SRR X A4
Kt g H28. 9. 23 = 0.29 | EwKkA 61 - - - 10 ol. 4 1,200 6,900 BER SRR X A
Eith Al H28. 9. 20 N 0.16 | HwkA 100 £ - - - 10 10.7 4,300 25, 000 EER SRR X A
St Al H28.9. 27 i} 0.21 kO 100 £ - - - 12 63. 8 1,600 9,300 EER SRR X A
pEt ARt H28.9. 27 i} 0.12 | HEkH 60 - - - 12 93.2 940 0, 100 EBER it 3 A ey
AEM-15 Al H28.9. 19 = 0.26 | HEwkO 25 - - - 10 47.4 860 9,400 BER itk 3 AN ey
FaRt—15 At H28.9. 26 = 0.30 | EwkHA 10020 E - - - 12 69.95 1,200 6, 900 BER piid S-S AN
EHFRN-—15 ARt H28.9. 22 = 0.39 | EwkA ol - - - 10 43.0 1,300 71,9500 BER piid S 3i- NSO AN
DYt=&hith ARt H28.9. 22 ] 0.33 | EwkA 34 - - - 10 65. 8 2,400 14, 000 BER Pt S 3i- N SO AN
iRt —1% Al H28. 9. 26 551 0.20 | HEkO 22 - - - 10 52.1 540 3, 400 BER SRR X a4t
piRt—2% Bl H28.9. 27 i} 0.17 | HEwkO 50 - - - 10 64. 8 1,400 8,200 BER R R R X 4t
EfEM—15 il H28.9. 27 i} 0.19 | HEwkO - - - - 10 32.6 640 3, 600 BER EEEER R X At
TRAM— 15 Bl H28.9. 27 = 0.27 | HEwkO - - - - 10 30.9 210 1,300 BER SRR X 4
M/ Et—1% Bl H28.9. 27 i} 0.25 | HEwkO 24 - - - 12 94. 4 490 2,900 EER SRR X 4
M/ Et—2% Bl H28.9. 27 i} 0.24 | HEkO 45 - - - 12 63.3 3,500 20, 000 BER SRR X 4
EHM—1% Al H28.9. 27 i} 0.21 kA 10020 E - - - 11 34.7 ol 310 BER S T R A
Et/At—1% Bl H28.9. 22 551 0.39 | HwkA ol - - - 10 68.9 4,500 25, 000 EER SRR X 4
Wy fEth—15 Bl H28.9. 22 F 0.42 | EwkA - - - - 10 31.1 ol 330 BER SRR X A4
SHt—-15 Bl H28. 9. 22 i 0.27 | EwkA 61 - - - 10 40. 3 630 3, 800 EER SRR X 4
KFEH—15F g H28. 9. 22 £ 0.22 | EwkA 15 - - - 10 02.2 1,200 71,000 BER it 3z ey
At — 15 Bl H28.9. 19 £ 0.20 | EwkA 8 - - - 10 44.1 600 3,500 BER it 3z ey
EHM-15 g H28. 9. 21 = 0.27 | EwKkA - - - - 10 47.4 350 2,000 BER SRR X A
HIMR 15 Al H28. 9. 20 = 0.20 | HEwkH 15 - - - 10 44.2 2, 500 15, 000 EER SRR X A4
MFEM-15 Al H28. 9. 20 £ 0.31 kO 65 - - - 10 1.1 80 470 EER SRR X A
it ARt H28. 9. 21 = 0.36 | HEwkO 21 - - - 10 92. 1 1,000 0, 100 BER it 3 A ey
EtEflih AL H28. 9. 21 £ 0. 21 kA 13 - - - 10 31.6 250 1,700 BER piid S 3= SO AN
Eith AR LT H28.9. 22 = 0.31 kO 21 - - - 10 o4. 17 1,500 8, 700 BER it 3 A ey




Fth—15 AR LT H28. 9. 21 B 0.33 [ HwkA 21 10 64. 6 320 1,900 BER EEEE TR A
FRM—15 AR LT H28.9. 21 5 0.32 [ HEwkA 53 10 55. 6 , 800 9, 800 BER EEEEE TR A
EEL—15 AR LT H28.9. 28 55 0.27 [ EwkA - 10 48.4 , 200 71,000 BER EEEE R TR A
RE#M—15 AR LT H28.9. 26 58] 0. 21 BokB 56 10 31.1 410 2, 500 BER BSR4
REM—2% AR LT H28.9. 21 = 0.40 [ EwkA - 10 43.9 620 3, 500 BER BSR4
RHAth—1%5 AR LT H28.9. 21 = 0.33 | HwkA - 10 58.2 , 300 7,100 BER EEEE R R 4t
—Yiiith—15 AR LT H28.9. 21 = 0.30 | HwkA - 10 45.3 , 200 6, 700 BER BEEE R R 4t
wth—15 AR LLTH H28.9. 21 = 0.43 | HwkA 52 10 58. 6 , 200 3, 000 BER BEEE R R 4
FAHALUBR-15 AR LLTH H28.9. 21 s 0.33 | HwkA 23 11 52.9 740 4,300 BER BEEE R R 4
TEBAt—15 AR LLTH H28.9. 21 = 0.32 | HwkA 22 11 65. 1 , 400 3, 000 BER RS R TR 4
TEBAt—2% AR LLTH H28. 9. 21 = 0.28 | HwkA 33 11 54.3 , 100 6, 100 BER BEEE R TR 4t
FAHELUBL-25 AR H28.9. 21 = 0.26 | HwkA 52 10 51.8 , 400 8, 100 BER BEEEE R A
BREHh—25 AR H28.9. 21 = 0.32 | HwkA 10 10 35.3 320 1,800 BER BEEE R TR A
it —15 AR H28.9. 22 = 0.42 | HwkA 24 10 50. 8 1,000 6, 000 BER IR TR A
it —1% AR LT H28.9. 22 55 0.27 | HwkA 65 10 57.4 1,000 5, 600 BER BEEEE TR A
ERth—15 AR LT H28. 9. 21 F 0.42 | HwkA 35 10 56. 7 1,400 1,200 BER Pt 3N S AN
Bth—15 AR H28.9. 22 F 0.35 | HwkA 10020 E 10 70.2 3,900 23, 000 BER BEEE R X g 41
EMEth—15 AR LT H28.9. 22 B 0.38 [ HEwkA 36 10 48. 1 580 3, 500 BER Pt 3N S AN
Rigsfgth—25 AR LT H28.9. 22 B 0.35 [ EwkA 50 10 47.3 1,900 1,000 BER Pt $i- AN SN
IRt AR LT H28. 9. 21 ] 0.28 [ HEwkA 45 10 46.0 810 4, 600 BER B R R X g 51
Bh—15 AR LT H28.9. 22 B 0.18 [ HwkA 12 10 61.0 500 2,900 BER EEE R TR A
ERigth—15 AR LT H28.9. 21 = 0.24 [ EwkA 16 10 48.5 , 100 6, 400 BER EEEE R TR A
Et/ #wth—1% AR LT H28. 9. 21 = 0.39 [ HwkA - 10 50.0 980 5, 500 BER EEE R TR A
EBBRHL—15 AR LT H28.9. 22 58] 0.29 [ HwkA 14 10 51.9 , 100 71,000 BER EEEE TR s
2EMN-15 AR LT H28.9. 22 = 0.32 [ HEwkA 10020 E 12 56. 4 690 4,100 BER EEEE R TR A
E iR AL H28.9. 21 i 0.10 [ HEwkA 22 10 47.2 520 3, 100 BER BSR4
Lt AL H28.9. 21 i 0.29 | HwkA 35 7 55. 1 640 3, 900 BER BSR4
B3l AR LT H28.9. 21 i 0.20 | HwkA 16 12 53.3 710 4,000 BER EEEE R R 4t
Hilith AR LLTH H28.9. 27 i 0.15 | HwkA 84 12 54.3 850 4,700 BER BEEE R R 4
=XR2E AR LLTH H28. 9. 28 = 0.11 kA 8 12 50. 4 480 2, 500 BER BEEE R R g4t
iR AR LLTH H28.9. 20 55 0.28 | HwkA 12 11 64.4 510 2, 500 BER BEEE R R 4t
pa i AR LLTH H28.9. 20 5] 0.17 | HwkA 15 12 55.3 470 2,700 BER BEEE R R 4t
Fith AR LU H28.9. 28 = 0.10 | HwkA 21 10 55.7 550 3, 400 BER BEEE R R A
moEM AR H28.9. 20 55 0.19 | HwkA 21 12 61.9 940 5, 600 BER BEEEE TR A
X/ XI5 AR H28.9. 22 55 0.18 | HwkA 13 12 53.0 560 3, 300 BER BRI 4
¥/ R25 AR LT H28.9. 22 55 0.26 | HwkA 13 10 46. 6 510 2,900 BER Pt 3N S C AN
=it AR H28.9. 22 55 0.24 | HwkA 12 12 53. 6 410 2, 200 BER BRI 4
F/Rt—15 AR LT H28. 9. 21 i 0. 21 kA 20 12 46.9 650 3, 800 BER BEEE R X I 41
Fibd AR H28. 9. 21 i 0.18 | HwkA 50 12 64. 1 , 300 1, 700 BER Pt 3N S AN
—WViAt AR LT H28.9. 20 B 0.23 [ HEwkA 16 10 53.2 660 3, 800 BER bt 3N S AN
fIERBEM — 15 AR LT H28.9. 20 55 0.26 [ HEwkA 14 12 55.5 , 200 71,000 BER B R R X g 51
mE it AR LT H28.9. 20 55 0.27 [ EwkA 24 12 56. 4 , 100 9, 700 BER B R R X g 41
Lt AR LT H28.9. 20 55 0.19 [ HEwkA 12 12 48.0 470 2, 800 BER EEEEE TR A
aiEh AR LT H28.9. 23 = 0.28 [ HEwkA 14 12 45.2 850 4, 800 BER EEEE R TR A
Byt AR LT H28.9. 23 55 0.16 [ HwkA 56 10 58. 4 , 400 8, 300 BER EEEE R TR A
Kith AL H28.9. 23 = 0. 11 BokB 89 10 30.5 180 1,100 BER BSR4
Eh-—15 AL H28.9. 23 58] 0.16 | HwkO 44 10 66. 3 500 3, 000 BER BSR4
Rith—1% AR LT H28.9. 21 = 0.09 | HwkA 32 10 25.4 41 220 BER EEEE R R 4t
AR — 15 AR LLTH H28.9. 22 58] 0.22 | HwkA 42 10 38.7 180 1,000 BER BEEE R R 4
EERM— 2% AR LT H28.9. 22 58] 0.37 | HwkA - 12 74.2 330 2, 000 BER EEEE R R 4t
/it LT H28.9. 24 = 0.14 | HwkA 24 7 29.2 370 2, 200 BER BEEE R IR 4
ErHit—15 AR LLTH H28. 9. 24 = 0.22 | HwkA 7 4 35.4 180 1,000 BER BEEE R TR 4
ZRM—1%5 AR LLTH H28. 9. 24 = 0.16 | HwkA 16 3 33.6 380 2,100 BER BSR4
‘with—1% AR LLTH H28.9. 24 = 0.13 | HwkA 25 8 57.8 620 3, 600 BER BEEE R R 4
ZHAN—15 AR H28.9. 23 = 0.08 | HwkA 35 8 76.3 , 400 71,200 BER BEEEE TR A
HETA®— 15 AR H28.9. 23 Z 0.09 | HwkA 58 4 63. 4 410 2, 600 BER IR TR A
RIAM—15 AR H28.9. 23 Z 0.13 | HwkA 28 5 25.5 11 63 BER BEEE R R 4
=/ fFth—15 AR LT H28.9. 23 F 0.25 | HwkA - 12 22.6 , 100 6, 500 BER BEEE R X i85t
ERME 1 AR LT H28.9. 23 B 0.17 [ EwkA 80 12 59.3 710 3, 900 BER Pt 3N S AN
AHIN2X#E1—3 — 1 5kibith AR LT H28. 9. 21 B 0.12 [ EwkA 32 10 53. 1 170 940 BER Pt 3N S AN
=EXR6 —3 — 4 5Lt AR LT H28.9. 22 55 0.11 kA 12 8 49.4 410 2, 300 BER B R R X g 51
TH 11X — 2 — 1 5t AR LT H28.9. 23 B 0.14 [ HEwkA 45 12 49.3 470 2, 800 BER Pt 3N S AN
HE1X#12—5— 25t AR LT H28.9. 23 ] 0.14 [ EwkA 60 5 53. 6 780 4, 400 BER B R R X g 51
HE1X#13—1—15tfii AR LT H28.9. 22 55 0.30 [ HwkA 48 11 61.7 670 3, 800 BER EEE R TR A
HE2X#12—1— 25K AR LT H28.9. 23 5 0.16 [ HwkA 42 12 42. 1 450 2, 500 BER EEE TR A
HE2X#12—2— 15K AR LT H28. 9. 21 = 0.14 [ HEwkA 38 12 54.2 690 4,000 BER EEE R TR A
KH1XHR14—1— 45K AR LT H28.9. 26 58] 0. 21 BokB 40 10 21.9 130 150 BER EEEE TR A
KH1X#R14—2— 35K AR LT H28.9. 20 = 0.28 [ HwkA - 10 35. 1 , 200 12,000 BER BSR4
AH1Z#R14—2— 55Kt AR LT H28.9. 20 = 0.22 | HwkA 23 10 37.6 230 1,300 BER EEEE R R 4t
AH1XZ#R13—4— 35Kt AR LT H28.9. 22 58] 0.38 | HwkA 21 10 51.8 , 100 12, 000 BER BEEE R R 4t
AKH2XZ#HR14—1—105LfbiH AR LLTH H28.9. 27 = 0.25 | HwkA 25 10 55. 1 , 800 11, 000 BER BEEE R R 4
AKH2XZ#R17—3— 15K AR LLTH H28.9. 22 55 0.29 | HwkA 50 10 62. 5 , 800 11, 000 BER BEEE R R 4t
KH2X%# 17 —3— 35 AR LLTH H28.9. 22 55 0.29 | HwkA 26 10 42.3 640 3, 700 BER BEEE R R 4
AKH2X#R17—3— 145 L AR LLTH H28. 9. 22 = 0. 31 kB 10020 E 11 69. 2 , 200 13,000 BER BEEE R R 4
=Xk 16— 165Kkt AR LLTH H28.9. 20 55 0.38 | HwkA 23 10 45. 4 470 2, 700 BER RS R TR 4
EEPX#R1 6 —2 05Kkt AL H28.9. 21 = 0.29 | HwkA 30 10 41.6 , 800 11, 000 BER BEEE R TR A
it AR LU H28.9. 22 = 0.12 | HwkA 30 11 53. 8 , 100 6, 300 BER IR T A
Fait AL H28.9. 23 Z 0.11 kB 20 10 51.9 390 2,100 BER IR TR A
Lot AR LT H28.9. 23 F 0.14 | HwkA 21 10 57.5 370 2, 200 BER Pt 3N S AN
Bilth AR H28.9. 22 55 0.13 | HwkA 17 5 62. 9 680 3, 700 BER Pt 3N S AN
EKith AR LT H28.9. 22 55 0.12 [ EwkA 34 4 69.5 660 4,000 BER Pt 3N S AN
it AR LT H28.9. 22 55 0.12 [ EwkA 30 5 56.9 570 3, 300 BER Pt 3N S AN
SRHE AR LT H28.9. 21 ] 0.16 [ HEwkA 12 4 50. 3 610 3, 600 BER B R R X g 41
K AR LT H28.9. 20 55 0.18 [ HwkA 12 9 40. 1 270 1,500 BER EEEE R TR A
Feith AR LT H28.9. 20 55 0.18 [ HwkA 24 1 59.3 840 4, 800 BER EEEE R TR A
it AR LT H28. 9. 21 = 0.12 [ HEwkA 23 10 62. 6 400 2, 300 BER EEEE IR A
IR AR LT H28.9. 23 = 0.15 [ HEwkA 37 8 50. 4 360 2, 000 BER EEEE R TR A
KRBt AR LT H28.9. 21 = 0.13 [ HwkA 36 8 56. 8 360 2, 400 BER EEE R TR A
N E AL H28. 9. 21 = 0.14 [ HEwkA 32 10 40.2 170 960 BER BSR4
Pt AL H28.9. 20 58] 0.18 | HwkA 31 8 52.4 , 500 8, 500 BER BSR4
INEA AR LT H28.9. 22 58] 0.12 | HwkA 13 12 68. 7 410 2, 200 BER EEEE R R 4t
Fizhiul LU H28.9. 23 = 0.16 | HwkA - 10 51.4 , 100 6, 400 BER BEEE R R 4t
KH23Z#R17-3-85 L fbith AL H28.9. 22 5] 0.27 | HwkA 25 10 50. 4 650 3, 800 BER BEEE R R 4
2% #R12-3-25 Lkt AR LU TH H28. 9. 21 = 0.15 | HwkA 18 11 49.3 300 1,800 BER BEEE R R 4t
feth— 15 AR LLTH H28.9. 22 = 0.29 | HwkA 35 10 44.3 540 3, 100 BER BEEE R TR 4t
/ FAM—15 AR H28.9. 23 = 0.33 | HwkA - 10 20. 2 32 180 BER BEEE R TR A
AFHit-25 AR H28.9. 22 55 0.24 | HwkA 28 10 49.2 , 400 8, 000 BER BEEEE R A
FRAth—25 AR H28.9. 27 Z 0.29 | HwkA - 10 39.8 350 2, 200 BER BEEE R R 4
BREHN-—15 AR H28.9. 21 Z 0.32 | HwkA - 11 41.2 , 400 8, 000 BER IR R A
IWEth—15 AR H28. 9. 21 Z 0.33 | HwkA 90 10 40. 8 470 2, 700 BER REEE R R 4
EAM— 15 AR LT H28.9. 27 i 0.23 | HwkA 18 12 53.4 , 300 1, 700 BER Pt 3N S C AN
g it AR LT H28. 9. 21 i 0.34 [ EwkA 15 10 51.9 , 700 21, 000 BER Pt 3N S AN
7B/ At AR LT H28.9. 22 55 0.14 [ EwkA 27 3 20.0 18 110 BER Pt 3N S AN
THIXEI—2—25 L1t AR LU H28.9. 27 i 0.13[ EwKkE . 21 12 33.0 160 910 BER B R R X g 51
HE1X#E12—5—35 it AR H28.9. 27 i 0.09] HwkB 0. 55 11 49. 6 130 170 BER EEEE TR S
KH2X#17—3— 1551/t AL H28.9. 27 i 0.22| HwkB 22 10 35.0 120 170 BER EEEE TR A
oA BB H28.9.29 = 0. 11 BokB 16 11 55.3 450 2, 700 BER EEEE R TR A
FEdnith BB H28.9.23 = 0. 21 BokB 12 10 53. 6 370 2, 000 BER EEEE TR A
Kith AEJIT| H28.9.28 55 0.17 [ HEwkA 26 11 58.0 470 2, 800 BER BSR4
i3] =hiul AEIT | H28.9.28 = 0.17 | HwkA 10024 E 10 51.9 480 2,900 BER BSR4
ZDHM AEJIT| H28.9.28 55 0.15 [ HwkA 10024 E 10 65. 8 , 200 71,400 BER BSR4
EEi BB | H28.9.28 58] 0.15 | HwkA 10024 E 10 62. 8 530 3, 200 BER EEEE R R 4t
Fa it AE)T| H28.9.28 58] 0.08 | HwkA 40 12 58.5 710 4, 200 BER EEEE R R 4t
=Vt AR | H28.9.28 = 0.12 [ HwkH 10020 E 12 67.4 710 4,400 BER BEEE R R 4
RRFD AE)IlH | H28.9.28 5 0.13 | HwkA 68 12 66. 1 720 4,200 BER BEEE R R 4t
Hh ith AEIIT | H28.9.28 55 0.12 | HwkA 60 12 58. 2 290 1,800 BER RS R TR 4
#hith AEIIT | H28.9.28 = 0.13 | HwkA 10020 E 12 64. 6 640 3, 600 BER BEEE R TR 4
T8t AEII™ | H28.9.29 55 0.07 | HwkA 10020 E 11 54.4 910 5, 400 BER BEEEE R A
i8It EFII™ | H28.9.29 Z 0.12 | HwkA 10020 E 11 57.17 , 200 6, 700 BER it 3N ST
Kith EFII™ | H28.9.29 Z 0.10 | HwkA 52 10 56. 0 , 600 9, 400 BER REEE R R 4
TiEit BB [ H28.9.28 F 0.08 | HwkA 52 10 41.7 350 2, 200 BER Pt 3N S AN
HE it BB [ H28.9.28 B 0.13 [ HEwkA 10020 E 10 51.4 390 2, 300 BER BEEE R X g4t
ek 153 th BB [ H28.9.28 B 0.11 kA 15 10 69. 4 460 2, 700 BER B R X g5t
[FE BB [ H28.9.29 55 0.10 [ EwkA 60 3 4.7 570 3, 200 BER BEEE R X g 41
515 @ BB [ H28.9.28 B 0.29 [ HEwkA 64 11 51.1 680 3, 900 BER Pt 3N S AN
515 thQ BB [ H28.9.28 ] 0.28 [ HEwkA 90 10 46. 8 470 2, 700 BER B R R X g 51
FXRith BB [ H28.9.28 55 0.27 [ EwkA 44 11 43.2 460 2, 700 BER EEE R TR A
AR BB [ H28.9.29 5 0.22 [ EwkA 37 11 50.5 770 4, 600 BER EEE TR A
FIATLL AEIT| H28.9.28 = 0.12 [ HEwkA 25 10 52.17 550 3, 000 BER EEE R TR A
[LEith BB H28.9.28 58] 0.20 [ HEwkA 39 12 55.2 770 4,400 BER EEEE TR A
KB M AEIT | H28.9.28 55 0.20 [ HEwkA 32 11 55.0 720 4, 300 BER BSR4
Edlibi) BB H28.9.29 = 0.07 | HwkA 25 12 51.8 360 2, 000 BER EEEE R R 4t
J11 i 3t AEIT| H28.9.28 = 0.14 | HwkA 10020 £ 10 56. 9 590 3, 100 BER EEEE R R 4t
JIAr AEIT | H28.9.28 58] 0. 11 kA 39 12 60. 6 710 3, 900 BER BEEE R R 4
REEM A | H28.9.29 = 0.26 | HwkA 55 12 51.5 780 4,500 BER BEEE R R 4
AN\t ABIM [ H28.9.29 = 0.18 | HwkA 36 12 63. 6 590 3, 500 BER BEEE R R 4t
il AE)IlT | H28.9.28 55 0.10 | HwkA 52 12 55. 8 740 4, 300 BER BEEE R R 4t
A/ ARt AEIIT | H28.9.28 55 0.08 | HwkA 10020 E 10 60. 8 390 2,100 BER RS R TR 4
M HD AEII™ | H28.9.29 = 0.28 | HwkA 26 11 41.9 430 2, 500 BER BEEE R TR A
XXt EE]II™ | H28.9.29 = 0.13 | HwkA 33 12 50.5 760 4, 600 BER BEEEE T A
E T HFEND EFII™ | H28.9.28 Z 0.21 kB 39 12 39.5 440 2, 600 BER IR R A
& 7] HFE D BB [ H28.9.28 F 0.18 | HwkA 31 10 48.4 360 2,100 BER Pt 3N S AN
F{EAM BB [ H28.9.28 F 0.14 | HwkA 46 10 60. 8 150 1,100 BER BEER R X g 41
Hith BB [ H28.9.29 B 0.09 [ HEwkA - 52 12 53. 1 760 4, 400 BER Pt 3N S AN
feith AT H28.10. 11 0.09[ EwkE - 32 12 53.2 500 2800 BER Pt $i- AN S AN
&Lt RAHT H28.10. 11 0.08[ EwKkE 0.8 46 11 37.17 93 520 BER B R R X g 51
R ZEM AT H28.10. 11 0.07( EwKkE 0.6 31 12 50. 6 100 570 BER EEE R TR A
5&it RAHT H28.10. 11 0.1] HkHA 0.9 41 10 36. 8 62 380 BER B R R X g 51
ooy A H28.10. 11 0.09[ EwkE 0.3 21 12 46.2 100 660 BER EEEE TR A




&t REH H28.10.5 = 0.18 | HwkO - - 10 - - - - - - 12 59.2 900 5, 400 BER EEEE TR A
it At REH H28.10.5 = 0.24 | EwkO - —-| 100LAE - - - - - - 12 58. 6 820 4,500 BER EEEEE TR A
KA REH H28.10.5 i 0.19] HwkB - - 75 = = = - - - 12 48.6 790 4700 BER EEEE R TR A
ZEAMLL REH H28.10.5 = 0.15[ HwkB - - 10 - - - = - - 12 36. 6 400 2400 BER BSR4
ABEHM REH H28.10.5 = 0.38] HwkB 0.1 0.1 53 13 18 <1 <1 - - 10 54.7 250 1600 BER BSR4
/A KR H28.10.5 = 0.29] HwkO 0.5 0.1 40 1 9 <1 <1 - - 11 46.7 1000 6100 BER EEEE R R 4t
FELM REH H28.10.5 i 0.15[ EwkB 0.5 0.1 45 16 25 <1 <1 - - 10 28.0 150 850 BER BEEE R R 4t
BT KEM H28.10.5 £ 0.26[ HwkE 1.5 0.5 45 11 13 <1 <1 - - 12 45. 1 430 2600 BER BEEE R R 4
R ESNIES) H28. 9. 28 55 0.11 kB - - 37 = - - = - - 10 48.2 490 3, 000 BER BEEE R R 4
EEFHERMN ES]IES H28. 9. 28 55 0.12 | HwkA - -| 100K E - - - - - - 10 58.4 95 570 BER RS R TR 4
JUAS M ES]IES H28. 9. 28 5] 0.05 | HwkA - - 50 - - - - - - 10 59.7 410 2, 400 BER BEEE R TR 4t
ARAM =&HT H28.10. 2 i 0.24 | HwkA - - 56 - - - - - - 10 58. 4 490 2,900 BER BEEEE R A
B2 =&Hr H28.10. 6 i 0.18 | HwkA - - 14 - - - - - - 10 48.0 300 1,800 BER BEEE R TR A
Kigith =50 H28.10. 3 = 0.24 | EwkO - - 38 - - - - - - 10 36. 8 370 2, 200 BER EEE TS R X 45 4%
sait =& H28. 10. 6 Z 0.24 EwKE 1 0.5 23 12 16 <1 <1 - - 12 67.3 580 3100 BER BEEEE TR A
B/ (L) =&HT H28.10. 6 F 0.19[ EwKkE - - - - - - - - - 10 61.3 80 440 BER Pt 3N S AN
P/ ARM =&HT H28.10. 4 F 0.21 EwKE 1.6 0.5 48 9 12 <1 <1 - - 10 66. 2 66 390 BER BEEE R X g 41
ZERME =&HT H28.10. 4 B 0.27] HwkB 0.5 0.1 55 19 18 <1 <1 - - 12 28.0 42 240 BER Pt 3N S AN
Bt =& H28.10. 3 B 0.19] HwkB 0.3 0.1 85 1 5 <1 <1 - - 11 53.8 900 5400 BER EEE TR S
A =& H28.10.4 i 0.3] HkH 0.5 0.1 49 32 83 <1 <1 - - 12 45.9 130 130 BER EEEE TR A
EE =& H28.10.4 B 0.26] HwkB 0.6 0.1 42 16 14 <1 <1 - - 12 28.3 54 310 BER EEE R TR A
m At =& H28.10.4 = 0.16] HwkB 0.6 0.1 22 13 30 <1 <1 - - 4 81.5 1600 9000 BER EEEE R TR A
Lz At =& H28.10. 6 i 0.17] HwkB 1.2 0.5 13 13 13 <1 <1 - - 10 68. 9 380 2100 BER EEE R TR A
1 &R =& H28.10.4 = 0.2] HwkH 0.6 0.1 38 10 11 <1 <1 - - 8 21.1 1 380 BER EEEE TR s
At =& H28.10. 3 = 0.23| HwkB 0.3 0.1 86 5 9 <1 <1 - - 10 955. 6 590 3500 BER EEEE R TR A
F/NE =& H28.10.4 = 0.28| HwkB 0.7 0.1 48 1 5 <1 <1 - - 5 76.9 1600 10000 BER BSR4
ucf=y s it =& H28.10. 3 = 0.19[ EwkO 0.9 0.1 13 13 19 <1 <1 - - 12 32. 1 50 290 BER BSR4
—RFE1IM =& H28.10.4 = 0.27( EwkE 0.8 0. 111004 E 1 2 <1 <1 - - 12 54.6 290 1800 BER EEEE R R 4t
—JFE2H =50 H28.10.4 = 0.24 EwKkE 0.6 0.1]100LL £ 2 2 <1 <1 - - 12 67.5 930 5600 BER BEEE R R 4
—HFEIM =50 H28.10. 4 = 0.23[ EwkE 0.3 0.1 17 77 150 <1 1 <1 <1 12 60. 2 860 5000 BER BEEE R R g4t
AARE M =50 H28.10. 3 = 0.25[ EwkE 0.3 0.1]100LL £ 29 19 <1 <1 - - 11 43. 3 180 1100 BER BEEE R R 4t
Rt =&HT H28.10. 2 i 0.29[ EwkE 0.4 0.1 90 3 7 <1 <1 - - 10 40.5 1200 7200 BER BEEE R R 4t
ALFxM =&Hr H28. 10. 2 & 0.15[ EwkE 0.2 0.1]100LLE 3 3 <1 <1 - - 10 61.4 850 5100 BER BEEE R R A
oty =&HT H28. 10. 2 & 0.16[ HwKkE 0.4 0.1 35 15 19 <1 <1 - - 10 65. 1 610 3600 BER BEEEE TR A
it =&Hr H28.10. 2 & 0.21 EwKkE 0.4 0.1 47 19 37 <1 <1 - - 10 68. 6 1000 5900 BER BRI 4
(P} =&HT H28.10. 2 TRES 0.23[ EwKE 0.7 0.1]100LE 5 5 <1 <1 - - 10 53.3 4300 24000 BER Pt 3N S C AN
Lt =&Hr H28.10. 2 TRES 0.23[ EwKE 0.9 0. 1]100LLE 4 5 <1 <1 - - 12 56. 6 190 1100 BER BRI 4
4 et =&HT H28.10. 2 TREE 0.21 EwKE 0.7 0.1 65 1 8 <1 <1 - - 11 31.1 140 800 BER BEEE R X I 41
b b =&HT H28.10. 2 TRES 0.24 EwKE 0.9 0.1 65 10 23 <1 <1 - - 11 45.3 500 3100 BER Pt 3N S AN
=it =& H28.10. 2 TRES 0.22| HwkB 0.8 0.1 38 5 10 <1 <1 - - 10 40.1 820 4900 BER bt 3N S AN
Tat =& H28.10. 3 B 0.18] HwkB 0.3 0.1 17 5 4 <1 <1 - - 12 51.1 350 2100 BER EEE TR S
AR =& H28.10. 3 ] 0.17] HwkB 0.8 0. 111004 E 4 )i <1 <1 - - 11 52.0 180 1000 BER B R R X g 41
]RF At =& H28.10. 3 5 0.2] HkH - - - - - - - - - 12 43.7 590 3500 BER EEEEE TR A
Fe it =& H28.10. 2 TRES 0.35| HwkO 0.3 0. 111004 E 4 4 <1 <1 - - 11 99.0 86 460 BER EEEE R TR A
BXDith =& H28.10. 3 = 0.16] HwkB 0.8 0.1 48 11 13 <1 <1 - - 11 48. 4 180 1100 BER EEEE R TR A
1% £ Hith =& H28.10. 3 = 0.14] HwkB 0.8 0. 111004 E 4 4 <1 <1 - - 12 74.8 1300 7400 BER BSR4
=AKit =& H28.10. 3 = 0.16[ HwkO 0.8 0.1 14 8 8 <1 <1 - - 10 45.5 210 1100 BER BSR4
=ZAEAKRMD =& H28.10. 3 = 0.15[ EwkO 0.6 0. 111004 E 3 3 <1 <1 - - 10 69. 4 600 3400 BER EEEE R R 4t
A 2] =& H28.10. 2 TREE 0.13[ HwkE 0.8 0.1 85 3 3 <1 <1 - - 11 52.2 11 66 BER BEEE R R 4
g & At =& H28.10.4 = 0.14[ EwkE 0.8 0.1 57 6 5 <1 <1 - - 11 64. 4 170 970 BER EEEE R R 4t
INFH Y =& H28.10. 2 TREE 0.13[ HEwkE 0.7 0.1 28 13 11 <1 <1 - - 10 55.5 87 520 BER BEEE R IR 4
INBBM(F) =& H28.10. 2 TREE 0.13[ EwkE 0.5 0.1 58 5 10 <1 <1 - - 8 66. 7 490 2900 BER BEEE R TR 4
=1z hi) =&HT H28.10. 2 TREE 0.15[ HwkE 0.3 0.1 20 24 32 <1 <1 - - 12 39.0 150 900 BER BSR4
=/ Tt =&HT H28.10. 2 TREE 0.14[ EwKE 0.8 0.1 33 12 12 <1 <1 - - 10 44.8 140 820 BER BEEE R R 4
/R =& H28.10. 3 = 0.16[ HwKkE 0.8 0.1]100LL E 6 12 <1 <1 - - 10 63.9 480 2500 BER BEEEE TR A
wiEith =&HT H28.10. 3 Z 0.14[ EwKE 0.5 0.1 85 5 10 <1 <1 - - 11 51.7 230 1400 BER IR TR A
—ERAt =&HT H28.10. 3 Z 0.16[ HwKkE 0.3 0. 1]100L4E 2 1 <1 <1 - - 5 65. 3 400 2400 BER BEEE R R 4
= /Rt =&HT H28.10. 3 F 0.14[ EwKE 0.7 0. 1]100LLE 1 1 <1 <1 - - 6 42.9 98 580 BER BEEE R X i85t
= /Hith =&HT H28.10. 3 B 0.13] HwkB 0.6 0.1 90 5 6 <1 <1 - - 7 14.7 1900 11000 BER Pt 3N S AN
ORI =& H28.10. 3 B 0.17] HwkB 0.8 0. 1]100L4E 2 3 <1 <1 - - 10 39.0 <10 11 BER Pt 3N S AN
HRiRE =& H28.10. 3 B 0.13] HwkB 0.5 0.1 45 18 21 <1 <1 - - 3 74.3 710 4100 BER EE R TR S
Tt =& H28.10. 3 B 0.15| HwkB 0.8 0. 111004 E 1{<1 <1 <1 - - 8 67.0 440 2500 BER Pt 3N S AN
— XMt =& H28.10. 3 55 0.11] HwkB 0.9 0.1 38 8 8 <1 <1 - - 10 21.7 12 65 BER EEEE TR A
W iEt =& H28.10. 3 B 0.27] HwkB 0.3 0.1 34 15 18 <1 <1 - - 10 30.9 220 1400 BER EEE R TR A
/Rt =& H28.10.4 i 0.19] HwkB 0.2 0.1 24 50 110 <1 <1 - - 10 23. 1 25 140 BER EEE TR A
E21E M =0 H28.10. 3 = 0.14[ HEwkO 0.3 0.1 22 220 550 <1 <1 - - 10 44.1 380 2200 BER B IERX S




